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(Description and conversion formula of vibrating wire sensor)
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pe (Strain)
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(VW Spot-weldable strain gage) / Model 1210, 1215

pe = 0.3911 x 0.001 x Hz x Hz
Hz =,/ pe/(0.3911x 0.001)
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b) M& A
(VW Weldable strain gage) / Model 1220

pe = 4.062 x 0.001 x Hz x Hz

Hz =,/ e/ (4.062 x 0.001)

o 2soA ojdd HIHEA
(VW Embedment strain gage) / Model 1240

pe = 3.304 x 0.001 x Hz x Hz

Hz =,/ ne/(3.304 % 0.001)

d) TSHL £30|E HHEH
(VW Shotcrete strain gage) / Model 1230

pe = 0.7756 x 0.001 x Hz x Hz
Hz =/ pe/(0.7756 x 0.001)
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